

# A Generalized Class of Univalent Harmonic Functions Associated with a Multiplier Transformation

Deepali Khurana, Raj Kumar, Sarika Verma and Gangadharan Murugusundaramoorthy

**Sahand Communications in  
Mathematical Analysis**

Print ISSN: 2322-5807  
Online ISSN: 2423-3900  
Volume: 18  
Number: 3  
Pages: 27-39

Sahand Commun. Math. Anal.  
DOI: 10.22130/scma.2021.132155.841

Volume 18, No. 3, August 2021

Print ISSN 2322-5807  
Online ISSN 2423-3900

Sahand Communications  
in  
Mathematical Analysis



Photo by Farhad Mansoori

Sahand Mountain, Maragheh, Iran.

SCMA, P. O. Box 55181-83111, Maragheh, Iran  
<http://scma.maragheh.ac.ir>

## A Generalized Class of Univalent Harmonic Functions Associated with a Multiplier Transformation

Deepali Khurana<sup>1</sup>, Raj Kumar<sup>2\*</sup>, Sarika Verma<sup>3</sup> and Gangadharan  
Murugusundaramoorthy<sup>4</sup>

**ABSTRACT.** We define a new subclass of univalent harmonic mappings using multiplier transformation and investigate various properties like necessary and sufficient conditions, extreme points, starlikeness, radius of convexity. We prove that the class is closed under harmonic convolutions and convex combinations. Finally, we show that this class is invariant under Bernardi-Libera-Livingston integral for harmonic functions.

### 1. INTRODUCTION AND PRELIMINARIES

In the open unit disk  $\mathbb{E} = \{z \in \mathbb{C} : |z| < 1\}$  a complex valued harmonic function  $f = u + iv$  can be decomposed into two parts  $h, g$  where  $h$  is called the analytic part and  $g$  is the co-analytic part of  $f$  and thus  $f$  can be expressed as  $f = h + \bar{g}$ . Let  $\mathcal{H}$  be the class of complex valued harmonic mappings  $f = h + \bar{g}$  defined in  $\mathbb{E}$  and normalized by  $f(0) = f_z(0) - 1 = 0$ . Under the given normalization conditions  $h, g$  have Taylor's series representation as

$$h(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad g(z) = \sum_{k=1}^{\infty} b_k z^k,$$

and consequently  $f = h + \bar{g}$  has the representation

$$(1.1) \quad f(z) = z + \sum_{k=2}^{\infty} a_k z^k + \overline{\sum_{k=1}^{\infty} b_k z^k}.$$

2010 *Mathematics Subject Classification.* 30C45, 30C50.

*Key words and phrases.* Harmonic mapping, Convolution, Bernardi operator, Coefficient conditions, Extreme points.

Received: 04 August 2020, Accepted: 23 May 2021.

\* Corresponding author.

In 1936, Lewy [6] proved that a necessary and sufficient condition for a harmonic function  $f = h + \bar{g}$  to be locally univalent and sense-preserving in  $\mathbb{E}$  is that its Jacobian  $J_f = |h'|^2 - |g'|^2$  is positive in  $\mathbb{E}$ . We denote by  $S_H$  the subclass of  $\mathcal{H}$  consisting of all sense-preserving univalent harmonic mappings  $f$  and  $S_H^0$  is the subclass of  $S_H$  whose members satisfy additional condition  $f_{\bar{z}}(0) = 0$ , i.e.  $g'(0) = 0$ . Further  $\bar{S}_H$  denote the subclass of  $\mathcal{H}$  consisting of functions of the type  $f_n = h + \bar{g}_n$ , where

$$(1.2) \quad h(z) = z - \sum_{k=2}^{\infty} |a_k| z^k, \quad g_n(z) = (-1)^n \sum_{k=1}^{\infty} |b_k| z^k.$$

Clunie and Sheil-Small [2] introduced the class  $S_H$  and some of its subclasses and investigated their geometric properties. Since then many subclasses of the class  $S_H$  were defined and their various properties were studied by the researchers e.g. see ([1, 4, 5, 9] and [10]) and references therein. In 1994, Opoola [7] defined a subclass  $T_n^\beta(\alpha)$  of normalized analytic functions that satisfy the condition  $\Re\left(\frac{D^n(f(z)^\beta)}{\beta^n z^\beta}\right) > \alpha, \forall z \in \mathbb{E}, n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}, 0 \leq \alpha < 1, \beta > 0$ , where

$$f(z)^\beta = z^\beta + \sum_{k=2}^{\infty} \beta a_k z^{k+\beta-1}$$

and  $D^n$  is the Salagean differential operator. Using the modified Salagean operator for harmonic functions, Khalifa Al-Shaqsi et.al. [1] studied a class  $H(n, \beta, \alpha)$ , consisting of harmonic functions

$$f(z)^\beta = h(z)^\beta + \overline{g(z)^\beta},$$

where

$$(1.3) \quad h(z)^\beta = z^\beta + \sum_{k=2}^{\infty} \beta a_k z^{k+\beta-1}, \quad g(z)^\beta = \sum_{k=1}^{\infty} \beta b_k z^{k+\beta-1}, \quad |b_1| < 1.$$

For more details about Salagean and modified Salagean operators respectively, we refer to [8] and [4]. In this paper, using a multiplier transformation  $I(n, \lambda)$ , we define a generalized class  $H^\beta(n, \lambda, \alpha)$  ( $n \in \mathbb{N}_0, \beta \geq 1, 0 \leq \lambda < 1$ .) of harmonic functions  $f(z)^\beta = h(z)^\beta + \overline{g(z)^\beta}$  that satisfy the condition

$$(1.4) \quad \Re\left(\frac{I(n+1, \lambda)f(z)^\beta}{I(n, \lambda)f(z)^\beta}\right) \geq \alpha, \quad 0 \leq \alpha < 1.$$

Here  $I(n, \lambda)$  is the multiplier transformation defined as

$$I(n, \lambda)f(z)^\beta = I(n, \lambda)h(z)^\beta + (-1)^n \overline{I(n, \lambda)g(z)^\beta},$$

where

$$I(n, \lambda)h(z)^\beta = z^\beta + \sum_{k=2}^{\infty} \beta \left( \frac{k + \lambda}{1 + \lambda} \right)^n a_k z^{\beta+k-1},$$

and

$$I(n, \lambda)g(z)^\beta = \sum_{k=1}^{\infty} \beta \left( \frac{k + \lambda}{1 + \lambda} \right)^n b_k z^{\beta+k-1}.$$

It is worth to mention here that the class  $H^\beta(n, \lambda, \alpha)$  is a more generalized class and it includes a variety of classes. For different choices of parameters  $n, \beta, \lambda$  we obtain different well known subclasses of  $S_H$ . For example,  $H^1(0, 0, \alpha) = S_H^*(\alpha)$  and  $H^1(1, 0, \alpha) = K_H(\alpha)$ , where  $S_H^*(\alpha)$  and  $K_H(\alpha)$ , introduced by Jahangiri [3], are well known subclasses of  $S_H$  consisting of harmonic starlike functions of order  $\alpha$  and convex of order  $\alpha$ , respectively. Moreover,  $H^\beta(n, 0, \alpha) = H(n, \beta, \alpha)$  is the class studied by Khalifa et. al. [1]. We denote by  $\overline{H^\beta}(n, \lambda, \alpha)$  the class consisting of functions of the type  $f_n^\beta = h^\beta + \overline{g_n^\beta}$  satisfying condition (1.4) where

$$(1.5) \quad \begin{aligned} h(z)^\beta &= z^\beta - \sum_{k=2}^{\infty} \beta |a_k| z^{k+\beta-1}, \\ g_n(z)^\beta &= (-1)^n \sum_{k=1}^{\infty} \beta |b_k| z^{k+\beta-1}. \end{aligned}$$

In Section 2, we obtain sufficient condition for harmonic functions to be in  $H^\beta(n, \lambda, \alpha)$  and then we prove that this condition is also necessary for the functions in the class  $\overline{H^\beta}(n, \lambda, \alpha)$ . We also investigate various properties like starlikeness, radius of convexity, Bernandi-Libera-Livingston integral, distortion bounds, convex combinations for the functions in the class  $\overline{H^\beta}(n, \lambda, \alpha)$ .

## 2. CHARACTERIZATION PROPERTIES

**Theorem 2.1.** *Let  $f^\beta = h^\beta + \overline{g^\beta}$ , where  $h^\beta$  and  $g^\beta$  are given by (1.3). If*

$$(2.1) \quad \begin{aligned} &\sum_{k=1}^{\infty} \left( \frac{k + \lambda}{1 + \lambda} \right)^n \left( \frac{k - \alpha + \lambda(1 - \alpha)}{1 + \lambda} \beta |a_k| + \frac{k + \alpha + \lambda(1 + \alpha)}{1 + \lambda} \beta |b_k| \right) \\ &\leq (1 + \beta)(1 - \alpha), \end{aligned}$$

where  $a_1 = 1, n \in \mathbb{N}_0, \beta \geq 1, 0 \leq \lambda < 1, 0 \leq \alpha < 1$ , then  $f^\beta$  is harmonic univalent and sense-preserving in  $\mathbb{E}$  and  $f^\beta \in H^\beta(n, \lambda, \alpha)$ .

*Proof.* First we shall prove that  $f^\beta$  is sense-preserving in  $\mathbb{E}$ . Since  $z \in \mathbb{E}$  therefore,

$$\begin{aligned}
|h'(z)^\beta| &\geq \beta \left( |z|^{\beta-1} - \sum_{k=2}^{\infty} (k + \beta - 1) |a_k| |z|^{k+\beta-2} \right) \\
&> \beta \left( 1 - \sum_{k=2}^{\infty} \frac{k - \alpha + \lambda(1 - \alpha)}{(1 + \lambda)(1 - \alpha)} \left( \frac{k + \lambda}{1 + \lambda} \right)^n |a_k| \right) \\
&> \beta \left( \sum_{k=1}^{\infty} \left( \frac{k + \lambda}{1 + \lambda} \right)^n \left( \frac{k + \alpha + \lambda(1 + \alpha)}{(1 + \lambda)(1 - \alpha)} \right) |b_k| \right) \\
&> \sum_{k=1}^{\infty} \beta(k + \beta - 1) |b_k| |z|^{k+\beta-2} \\
&> |g'(z)^\beta|.
\end{aligned}$$

Thus  $f^\beta$  is sense-preserving in  $\mathbb{E}$ . Next we will establish the univalence of  $f^\beta$ . For  $z_1 \neq z_2 \in \mathbb{E}$ ,

$$\begin{aligned}
\left| \frac{f(z_1)^\beta - f(z_2)^\beta}{h(z_1)^\beta - h(z_2)^\beta} \right| &\geq 1 - \left| \frac{g(z_1)^\beta - g(z_2)^\beta}{h(z_1)^\beta - h(z_2)^\beta} \right| \\
&> 1 - \left| \frac{\sum_{k=1}^{\infty} \beta b_k (z_1^{k+\beta-1} - z_2^{k+\beta-1})}{z_1^\beta - z_2^\beta + \sum_{k=2}^{\infty} \beta a_k (z_1^{k+\beta-1} - z_2^{k+\beta-1})} \right| \\
&> 1 - \frac{\sum_{k=1}^{\infty} (k + \beta - 1) |b_k|}{1 - \sum_{k=2}^{\infty} (k + \beta - 1) |a_k|} \\
&> 1 - \frac{\sum_{k=1}^{\infty} \left( \frac{k + \lambda}{1 + \lambda} \right)^n \frac{k + \alpha + \lambda(1 + \alpha)}{(1 + \lambda)(1 - \alpha)} \beta |b_k|}{1 - \sum_{k=2}^{\infty} \left( \frac{k + \lambda}{1 + \lambda} \right)^n \frac{k - \alpha + \lambda(1 - \alpha)}{(1 + \lambda)(1 - \alpha)} \beta |a_k|} \\
&\geq 0.
\end{aligned}$$

We shall now prove that under condition (2.1),  $f^\beta \in H^\beta(n, \lambda, \alpha)$  i.e.,

$$\Re \left( \frac{I(n+1, \lambda) f^\beta}{I(n, \lambda) f^\beta} \right) \geq \alpha.$$

We know that  $\Re(w) > \alpha$  if and only if  $|1 - \alpha + w| > |1 + \alpha - w|$ . Thus

$$|I(n+1, \lambda) f^\beta + (1 - \alpha) I(n, \lambda) f^\beta| - |I(n+1, \lambda) f^\beta - (1 + \alpha) I(n, \lambda) f^\beta|$$

$$\begin{aligned}
 &= \left| z^\beta + \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^{n+1} \beta a_k z^{k+\beta-1} + (-1)^{n+1} \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^{n+1} \beta \bar{b}_k \bar{z}^{k+\beta-1} \right. \\
 &\quad \left. + (1-\alpha) \left[ z^\beta + \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \beta a_k z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \beta \bar{b}_k \bar{z}^{k+\beta-1} \right] \right| \\
 &\quad - \left| z^\beta + \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^{n+1} \beta a_k z^{k+\beta-1} + (-1)^{n+1} \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^{n+1} \beta \bar{b}_k \bar{z}^{k+\beta-1} \right. \\
 &\quad \left. - (1+\alpha) \left[ z^\beta + \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \beta a_k z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \beta \bar{b}_k \bar{z}^{k+\beta-1} \right] \right| \\
 &\geq 2(1-\alpha) |z|^\beta \left[ 1 - \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left( \frac{k-\alpha+\lambda(1-\alpha)}{(1-\alpha)(1+\lambda)} \right) \beta |a_k| \right. \\
 &\quad \left. - \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left( \frac{k+\alpha+\lambda(1+\alpha)}{(1-\alpha)(1+\lambda)} \right) \beta |b_k| \right] \\
 &\geq 0, \quad \text{in view of (2.1).}
 \end{aligned}$$

Hence, it completes the proof.  $\square$

In the next result we show that the coefficient condition (2.1) is necessary for the functions in the class  $\overline{H}^\beta(n, \lambda, \alpha)$ .

**Theorem 2.2.** *Let  $f_n^\beta = h^\beta + \overline{g_n^\beta}$  be given by (1.5). Then  $f_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha)$  if and only if  $f_n^\beta$  satisfies condition (2.1).*

*Proof.* In view of Theorem 2.1 and the relation  $\overline{H}^\beta(n, \lambda, \alpha) \subset H^\beta(n, \lambda, \alpha)$  we require to prove ‘only if’ part. Let  $f_n^\beta = h^\beta + \overline{g_n^\beta} \in \overline{H}^\beta(n, \lambda, \alpha)$ , then we observe

$$\Re \left[ \left( \frac{I(n+1, \lambda) f_n(z)^\beta}{I(n, \lambda) f_n(z)^\beta} \right) - \alpha \right] \geq 0, \quad 0 \leq \alpha < 1.$$

After substituting  $I(n+1, \lambda) f_n(z)^\beta$  and  $I(n, \lambda) f_n(z)^\beta$  in the above inequality we have,

$$\begin{aligned}
 (2.2) \quad &\Re \left[ \frac{(1-\alpha)z^\beta - \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \frac{k-\alpha+\lambda(1-\alpha)}{(1+\lambda)} \beta a_k z^{k+\beta-1} - (-1)^{2n} \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \frac{k+\alpha+\lambda(1+\alpha)}{(1+\lambda)} \beta \bar{b}_k \bar{z}^{k+\beta-1}}{z^\beta - \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \beta a_k z^{k+\beta-1} + (-1)^{2n} \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \beta \bar{b}_k \bar{z}^{k+\beta-1}} \right] \\
 &\geq 0.
 \end{aligned}$$

The above required condition (2.2) holds true for all values of  $z$ ,  $|z| = r < 1$ . Choosing the values of  $z$  on positive real axis, where  $0 \leq z = r < 1$

1, we have

$$\frac{(1-\alpha) - \sum_{k=2}^{\infty} \binom{k+\lambda}{1+\lambda}^n \frac{k-\alpha+\lambda(1-\alpha)}{(1+\lambda)} \beta a_k r^{k-1} - \sum_{k=1}^{\infty} \binom{k+\lambda}{1+\lambda}^n \frac{k+\alpha+\lambda(1+\alpha)}{(1+\lambda)} \beta b_k r^{k-1}}{1 - \sum_{k=2}^{\infty} \binom{k+\lambda}{1+\lambda}^n \beta a_k r^{k-1} + \sum_{k=1}^{\infty} \binom{k+\lambda}{1+\lambda}^n \beta \bar{b}_k r^{k-1}} \geq 0.$$

If condition (2.1) doesn't hold true, then numerator of the above fraction will be negative for successfully large values of  $r$  close to 1. Hence, there exists  $z_0 = r_0$  in  $(0, 1)$  for which the quotient in the above inequality will be negative. It contradicts the required condition that  $f_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha)$  and so it completes the proof.  $\square$

Next we establish that the family  $\overline{H}^\beta(n, \lambda, \alpha)$  is non-empty, that is we prove that there exist harmonic functions which are members of the class  $\overline{H}^\beta(n, \lambda, \alpha)$  and moreover these functions are the extremums for the family  $\overline{H}^\beta(n, \lambda, \alpha)$ .

**Theorem 2.3.** *Let  $f_n^\beta = h^\beta + \overline{g_n^\beta}$ , then  $f_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha)$  if and only if  $f_n(z)^\beta = \sum_{k=1}^{\infty} \left( X_k h_k(z)^\beta + Y_k \overline{g_{n_k}(z)^\beta} \right)$ , where*

$$h_1(z)^\beta = z^\beta,$$

$$h_k(z)^\beta = z^\beta - \frac{(1-\alpha)(1+\lambda)^{n+1}}{((k-\alpha) + \lambda(1-\alpha))(k+\lambda)^n} z^{k+\beta-1}, \quad k = 2, 3, 4, \dots$$

$$g_{n_k}(z)^\beta = z^\beta + (-1)^n \frac{(1-\alpha)(1+\lambda)^{n+1}}{((k+\alpha) + \lambda(1+\alpha))(k+\lambda)^n} z^{k+\beta-1}, \quad k = 1, 2, 3, \dots,$$

and  $\sum_{k=1}^{\infty} (X_k + Y_k) = 1$ ,  $X_k \geq 0$ ,  $Y_k \geq 0$ . In particular, the extreme points of  $\overline{H}^\beta(n, \lambda, \alpha)$  are  $\{h_k^\beta\}$  and  $\{g_{n_k}^\beta\}$ .

*Proof.* For function  $f_n^\beta = h^\beta + \overline{g_n^\beta}$ , where  $h^\beta$  and  $g_{n_k}^\beta$  are given as above, we have

$$f_n(z)^\beta = \sum_{k=1}^{\infty} \left( X_k h_k(z)^\beta + Y_k \overline{g_{n_k}(z)^\beta} \right),$$

$$(2.3) \quad f_n(z)^\beta = z^\beta - \sum_{k=2}^{\infty} \frac{(1-\alpha)(1+\lambda)^{n+1}}{((k-\alpha) + \lambda(1-\alpha))(k+\lambda)^n} X_k z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} \frac{(1-\alpha)(1+\lambda)^{n+1}}{((k+\alpha) + \lambda(1+\alpha))(k+\lambda)^n} Y_k z^{k+\beta-1}.$$

Comparing (2.3) with

$$f_n(z)^\beta = z^\beta - \sum_{k=2}^{\infty} \beta |a_k| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} \beta |b_k| z^{k+\beta-1},$$

we obtain

$$|a_k| = \frac{(1-\alpha)(1+\lambda)^{n+1}}{((k-\alpha) + \lambda(1-\alpha)) \beta(k+\lambda)^n} X_k,$$

and

$$|b_k| = (-1)^n \frac{(1-\alpha)(1+\lambda)^{n+1}}{((k+\alpha) + \lambda(1+\alpha)) \beta(k+\lambda)^n} Y_k.$$

Now,

$$\begin{aligned} & \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left[ \frac{(k-\alpha) + \lambda(1-\alpha)}{(1-\alpha)(1+\lambda)} \right] \beta |a_k| \\ & \quad + \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left[ \frac{(k+\alpha) + \lambda(1+\alpha)}{(1-\alpha)(1+\lambda)} \right] \beta |b_k| \\ & = \sum_{k=2}^{\infty} X_k + \sum_{k=1}^{\infty} Y_k \\ & = 1 - X_1 \leq 1. \end{aligned}$$

Therefore,  $f_n \in \overline{H}^\beta(n, \lambda, \alpha)$ . Conversely, let  $f_n \in \overline{H}^\beta(n, \lambda, \alpha)$ . Set

$$\begin{aligned} X_k &= \left( \frac{k+\lambda}{1+\lambda} \right)^n \left[ \frac{(k-\alpha) + \lambda(1-\alpha)}{(1-\alpha)(1+\lambda)} \right] |a_k|, \quad k = 2, 3, 4, \dots, \\ Y_k &= \left( \frac{k+\lambda}{1+\lambda} \right)^n \left[ \frac{(k+\alpha) + \lambda(1+\alpha)}{(1-\alpha)(1+\lambda)} \right] |b_k|, \quad k = 1, 2, 3, \dots, \end{aligned}$$

and  $\sum_{k=1}^{\infty} (X_k + Y_k) = 1$ . Since  $f_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha)$ , therefore

$$f_n(z)^\beta = z^\beta - \sum_{k=2}^{\infty} \beta |a_k| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} \beta |b_k| z^{k+\beta-1},$$

by substituting values of  $|a_k|$  and  $|b_k|$ , we get

$$f_n(z)^\beta = \sum_{k=1}^{\infty} \left( X_k h_k(z)^\beta + Y_k \overline{g_{n_k}(z)} \right),$$

where  $h_k(z)^\beta$  and  $g_{n_k}(z)^\beta$  are as mentioned above. Hence the proof is complete.  $\square$



In the following results we investigate geometric properties of the functions in the class  $\overline{H}^\beta(n, \lambda, \alpha)$ . We prove that the functions in the class  $\overline{H}^\beta(n, \lambda, \alpha)$  are starlike of order  $\alpha$  and we obtain the radius of convexity for the functions in this class.

**Theorem 2.4.** *Let  $f_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha)$ , then  $f_n^\beta$  maps the unit disk onto a domain which is starlike of order  $\alpha$ .*

*Proof.* A function  $f_n^\beta = h^\beta + \overline{g_n^\beta} \in \overline{H}^\beta(n, \lambda, \alpha)$  maps the unit disk  $\mathbb{E}$  onto a domain starlike of order  $\alpha$  if and only if for  $z \in \mathbb{E}$ ,

$$(2.4) \quad \Re \left\{ \frac{z(h(z)^\beta)' - \overline{z(g_n(z)^\beta)'}}{h(z)^\beta + \overline{g_n(z)^\beta}} \right\} > \alpha.$$

We know that  $\Re(w) > \alpha$  if and only if  $|1 - \alpha + w| > |1 + \alpha - w|$ . Therefore to prove (2.4), it suffices to show that

$$\begin{aligned} & \left| (1 - \alpha) \left( h(z)^\beta + \overline{g_n(z)^\beta} \right) + z(h(z)^\beta)' - \overline{z(g_n(z)^\beta)'} \right| \\ & - \left| (1 + \alpha) \left( h(z)^\beta + \overline{g_n(z)^\beta} \right) - zh'(z)^\beta + \overline{zg_n'(z)^\beta} \right| > 0. \end{aligned}$$

Since

$$\begin{aligned} & \left| (1 - \alpha) \left( h(z)^\beta + \overline{g_n(z)^\beta} \right) + zh'(z)^\beta - \overline{zg_n'(z)^\beta} \right| \\ & - \left| (1 + \alpha) \left( h(z)^\beta + \overline{g_n(z)^\beta} \right) - zh'(z)^\beta + \overline{zg_n'(z)^\beta} \right| \\ & = \left| (1 - \alpha) \left( z^\beta - \sum_{k=2}^{\infty} |a_k| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} |b_k| \overline{z}^{k+\beta-1} \right) \right. \\ & \quad \left. + \left( \beta z^\beta - \sum_{k=2}^{\infty} (k + \beta - 1) |a_k| z^{k+\beta-1} \right) - (-1)^n \sum_{k=1}^{\infty} (k + \beta - 1) |b_k| \overline{z}^{k+\beta-1} \right| \\ & - \left| (1 + \alpha) \left( z^\beta - \sum_{k=2}^{\infty} |a_k| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} |b_k| \overline{z}^{k+\beta-1} \right) \right. \\ & \quad \left. - \left( \beta z^\beta - \sum_{k=2}^{\infty} (k + \beta - 1) |a_k| z^{k+\beta-1} \right) + \sum_{k=1}^{\infty} (k + \beta - 1) |b_k| \overline{z}^{k+\beta-1} \right| \\ & = \left| (1 - \alpha + \beta) z^\beta - \sum_{k=2}^{\infty} (\beta + k - \alpha) |a_k| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} (2 - \alpha - \beta - k) |b_k| \overline{z}^{k+\beta-1} \right| \\ & - \left| (1 - \alpha - \beta) z^\beta \sum_{k=2}^{\infty} (2 - \alpha - \beta - k) |a_k| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} (\beta + k - \alpha) |b_k| \overline{z}^{k+\beta-1} \right| \\ & \geq 2(1 - \alpha) |z|^\beta \left[ 1 - \sum_{k=2}^{\infty} |a_k| |z|^{k-1} - \sum_{k=1}^{\infty} |b_k| |z|^{k-1} \right] \\ & \geq 2(1 - \alpha) |z|^\beta \left[ 1 - \sum_{k=2}^{\infty} |a_k| - \sum_{k=1}^{\infty} |b_k| \right] \end{aligned}$$

$$\begin{aligned}
 &> 2(1-\alpha)|z|^\beta \left[ 1 - \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \frac{k-\alpha+\lambda(1-\alpha)}{(1-\alpha)(1+\lambda)} \beta |a_k| \right. \\
 &\quad \left. - \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \frac{k+\alpha+\lambda(1+\alpha)}{(1-\alpha)(1+\lambda)} \beta |b_k| \right] \\
 &> 0,
 \end{aligned}$$

so the theorem follows.  $\square$

**Theorem 2.5.** *If  $f_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha)$  then  $f_n^\beta$  is convex of order  $\alpha$  in the disk*

$$|z| \leq \min_q \left( \frac{(1-\alpha)(1-|b_1|)}{q((1-\alpha) - (1+\alpha)|b_1|)} \right)^{1/(q+\beta-1)}.$$

*Proof.* Let  $f_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha)$  and let  $r$ ,  $0 < r < 1$  be fixed. If  $f_n^\beta$  is convex of order  $\alpha$  in the disk  $|z| \leq r$ , then  $r$  will satisfy

$$\begin{aligned}
 &\sum_{k=2}^{\infty} \left( \frac{k(k-\alpha)}{(1-\alpha)} |a_k| + \frac{k(k+\alpha)}{(1-\alpha)} |b_k| \right) r^{k+\beta-1} \\
 &\leq \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left( \left( \frac{k-\alpha+\lambda(1-\alpha)}{(1-\alpha)(1+\lambda)} \right) |a_k| + \left( \frac{k+\alpha+\lambda(1+\alpha)}{(1-\alpha)(1+\lambda)} \right) |b_k| \right) kr^{k+\beta-1} \\
 &\leq 1 - |b_1|,
 \end{aligned}$$

provided

$$kr^{k+\beta-1} \leq \frac{1-|b_1|}{1 - \frac{1+\alpha}{1-\alpha} \beta |b_1|},$$

or

$$r \leq \min_q \left( \frac{(1-\alpha)(1-|b_1|)}{q((1-\alpha) - (1+\alpha)\beta|b_1|)} \right)^{1/(q+\beta-1)}.$$

$\square$

### 3. INCLUSION PROPERTIES

In this section we discuss that the class  $\overline{H}^\beta(n, \lambda, \alpha)$  is closed under the harmonic convolution and convex combinations. Further we prove that the class is also invariant under Bernandi-Libera-Livingston integral operator for harmonic functions.

For harmonic functions

$$f_n(z)^\beta = z^\beta - \sum_{k=2}^{\infty} |a_k| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} |b_k| \bar{z}^{k+\beta-1},$$

and

$$F_n(z)^\beta = z^\beta - \sum_{k=2}^{\infty} |A_k| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} |B_k| \bar{z}^{k+\beta-1},$$

the convolution of  $f_n^\beta$  and  $F_n^\beta$  is given by

$$\begin{aligned} (f_n^\beta * F_n^\beta)(z) &= f_n(z)^\beta * F_n(z)^\beta \\ &= z^\beta - \sum_{k=2}^{\infty} |a_k A_k| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} |b_k B_k| \bar{z}^{k+\beta-1}. \end{aligned}$$

**Theorem 3.1.** *Let  $f_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha_1)$  and  $F_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha_2)$ , where  $0 \leq \alpha_1 \leq \alpha_2 < 1$ . Then  $f_n^\beta * F_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha_2) \subset \overline{H}^\beta(n, \lambda, \alpha_1)$ .*

*Proof.* We wish to show that  $(f_n^\beta * F_n^\beta)$  satisfies the coefficient condition (2.1). For  $F_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha_2)$ , we note that  $|A_k| \leq 1$  and  $|B_k| \leq 1$ . Now, for the coefficients of convolution function  $(f_n^\beta * F_n^\beta)$ , we have

$$\begin{aligned} & \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left[ \frac{(k-\alpha_2) + \lambda(1-\alpha_2)}{(1-\alpha_2)(1+\lambda)} \right] \beta |a_k A_k| \\ & \quad + \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left[ \frac{(k+\alpha_2) + \lambda(1+\alpha_2)}{(1-\alpha_2)(1+\lambda)} \right] \beta |b_k B_k| \\ & \leq \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \frac{(k-\alpha_2) + \lambda(1-\alpha_2)}{(1-\alpha_2)(1+\lambda)} \beta |a_k| \\ & \quad + \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \frac{(k+\alpha_2) + \lambda(1+\alpha_2)}{(1-\alpha_2)(1+\lambda)} \beta |b_k| \\ & \leq \sum_{k=2}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \frac{(k-\alpha_1) + \lambda(1-\alpha_1)}{(1-\alpha_1)(1+\lambda)} \beta |a_k| \\ & \quad + \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \frac{(k+\alpha_1) + \lambda(1+\alpha_1)}{(1-\alpha_1)(1+\lambda)} \beta |b_k| \\ & \leq 1. \end{aligned}$$

Since  $0 \leq \alpha_1 \leq \alpha_2$  and  $f_n^\beta \in \overline{H}^\beta(n, \lambda, \alpha_2)$ , therefore,

$$(f_n^\beta * F_n^\beta) \in \overline{H}^\beta(n, \lambda, \alpha_2) \subset \overline{H}^\beta(n, \lambda, \alpha_1).$$

□

For  $i = 1, 2, 3, \dots$  let the function  $f_{n,i}(z)^\beta$  be defined as

$$(3.1) \quad f_{n,i}(z)^\beta = z^\beta - \sum_{k=2}^{\infty} |a_{k,i}| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} |b_{k,i}| \bar{z}^{k+\beta-1}.$$

**Theorem 3.2.** Let  $f_{n,i}(z)^\beta$  defined by (3.1) be in the class  $\overline{H}^\beta(n, \lambda, \alpha)$  for every  $i = 1, 2, 3, \dots, m$ . Then  $c_i(z)$  defined by

$$(3.2) \quad c_i(z) = \sum_{i=1}^m t_i f_{n,i}(z)^\beta, \quad (0 \leq t_i \leq 1),$$

is also in the class  $\overline{H}^\beta(n, \lambda, \alpha)$ , where  $\sum_{i=1}^m t_i = 1$ .

*Proof.* For  $i = 1, 2, 3, \dots, m$ , let  $f_{n,i}^\beta \in \overline{H}^\beta(n, \lambda, \alpha)$ , where  $f_{n,i}^\beta$  is given by (3.1). Since each  $f_{n,i}(z)^\beta$  is in  $\overline{H}^\beta(n, \lambda, \alpha)$  therefore by Theorem 2.2, we obtain

$$(3.3) \quad \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left[ \left( \frac{(k-\alpha) + \lambda(1-\alpha)}{(1+\lambda)} \right) \beta |a_{k,i}| + \left( \frac{(k+\alpha) + \lambda(1+\alpha)}{(1+\lambda)} \right) \beta |b_{k,i}| \right] \leq (1+\beta)(1-\alpha).$$

For  $\sum_{i=1}^m t_i = 1$ ,  $0 \leq t_i \leq 1$ , the convex combinations of  $f_{n,i}^\beta$  may be written as

$$\begin{aligned} c_i(z) &= \sum_{i=1}^m t_i f_{n,i}(z)^\beta \\ &= z^\beta - \sum_{k=2}^{\infty} \left( \sum_{i=1}^m t_i |a_{k,i}| \right) z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} \left( \sum_{i=1}^m t_i |b_{k,i}| \right) \bar{z}^{k+\beta-1}. \end{aligned}$$

Now for  $c_i(z)$ , consider

$$\begin{aligned} & \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left[ \left( \frac{(k-\alpha) + \lambda(1-\alpha)}{(1+\lambda)} \right) \beta \left| \sum_{i=1}^m t_i a_{k,i} \right| \right. \\ & \quad \left. + \left( \frac{(k+\alpha) + \lambda(1+\alpha)}{(1+\lambda)} \right) \beta \left| \sum_{i=1}^m t_i b_{k,i} \right| \right] \\ &= \sum_{i=1}^m t_i \left[ \sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left[ \left( \frac{(k-\alpha) + \lambda(1-\alpha)}{(1+\lambda)} \right) |a_{k,i}| \right. \right. \\ & \quad \left. \left. + \left( \frac{(k+\alpha) + \lambda(1+\alpha)}{(1+\lambda)} \right) |b_{k,i}| \right] \beta \right] \\ &\leq (1+\beta)(1-\alpha) \sum_{i=1}^m t_i \\ &= (1+\beta)(1-\alpha). \end{aligned}$$

Thus,  $c_i(z) \in \overline{H}^\beta(n, \lambda, \alpha)$ . □

**Theorem 3.3.** Let  $\mathfrak{I}_c[f(z)^\beta]$  denote the Bernardi-Libera-Livingston integral operator for harmonic functions  $f^\beta = h^\beta + \overline{g^\beta}$ , where,

$$\mathfrak{I}_c[f(z)^\beta] = \frac{c+\beta}{z^c} \int_0^z \xi^{c-1} h(\xi)^\beta d\xi + \overline{\frac{c+\beta}{z^c} \int_0^z \xi^{c-1} g(\xi)^\beta d\xi}, \quad (c > 0).$$

If  $f_n^\beta \in \overline{H^\beta}(n, \lambda, \alpha)$ , then  $\mathfrak{I}_c[f_n(z)^\beta] \in \overline{H^\beta}(n, \lambda, \alpha)$ .

*Proof.* Let  $f_n(z)^\beta = h(z)^\beta + \overline{g_n(z)^\beta} \in \overline{H^\beta}(n, \lambda, \alpha)$ . Then,

$$\begin{aligned} \mathfrak{I}_c[f_n(z)^\beta] &= \frac{c+\beta}{z^c} \int_0^z \xi^{c-1} h(\xi)^\beta d\xi + \overline{\frac{c+\beta}{z^c} \int_0^z \xi^{c-1} g_n(\xi)^\beta d\xi} \\ &= \frac{c+\beta}{z^c} \int_0^z \xi^{c-1} \left( \xi^\beta - \sum_{k=2}^{\infty} |a_k| \xi^{k+\beta-1} \right) d\xi \\ &\quad + \overline{\frac{c+\beta}{z^c} \int_0^z \xi^{c-1} \left( (-1)^n \sum_{k=1}^{\infty} |b_k| \xi^{k+\beta-1} \right) d\xi} \\ &= z^\beta - \sum_{k=2}^{\infty} |A_k| z^{k+\beta-1} + (-1)^n \sum_{k=1}^{\infty} |B_k| z^{k+\beta-1}, \end{aligned}$$

where,  $|A_k| = \left( \frac{c+\beta}{c+k+\beta-1} \right) |a_k|$  and  $|B_k| = \left( \frac{c+\beta}{c+k+\beta-1} \right) |b_k|$ .

Thus

$$\begin{aligned} &\sum_{k=1}^{\infty} \left( \frac{k+\lambda}{1+\lambda} \right)^n \left[ \left( \frac{(k-\alpha)+\lambda(1-\alpha)}{(1+\lambda)} \right) \beta |A_k| + \left( \frac{(k+\alpha)+\lambda(1+\alpha)}{(1+\lambda)} \right) \beta |B_k| \right] \\ &= \sum_{k=1}^{\infty} \left[ \left( \frac{k+\lambda}{1+\lambda} \right)^n \left( \frac{(k-\alpha)+\lambda(1-\alpha)}{(1+\lambda)} \right) \beta \left( \frac{c+\beta}{c+k+\beta-1} \right) |a_k| \right. \\ &\quad \left. + \left( \frac{(k+\alpha)+\lambda(1+\alpha)}{(1+\lambda)} \right) \beta \left( \frac{c+\beta}{c+k+\beta-1} \right) |b_k| \right] \\ &\leq \sum_{k=1}^{\infty} \left[ \left( \frac{k+\lambda}{1+\lambda} \right)^n \left( \frac{(k-\alpha)+\lambda(1-\alpha)}{(1+\lambda)} \right) \beta |a_k| + \left( \frac{(k+\alpha)+\lambda(1+\alpha)}{(1+\lambda)} \right) \beta |b_n| \right] \\ &\leq (1+\beta)(1-\alpha). \end{aligned}$$

Hence,  $\mathfrak{I}_c[f_n(z)^\beta] \in \overline{H^\beta}(n, \lambda, \alpha)$ . □

**Acknowledgment.** The authors would like to express their sincere thanks to the referees for their helpful suggestions.

## REFERENCES

1. K. Al-Shaqsi, M. Darus and O. Abidemi, *A New Subclass of Salagean-Type Harmonic Univalent Functions*, Abstract and Appl. Ana., (2010), Article ID 821531, pp. 1-12.
2. J. Clunie and T. Sheil-Small, *Harmonic univalent functions*, Ann. Acad. Sci. Fenn. Ser. A I Math., 9 (1984), pp. 3-25.
3. J.M. Jahangiri, *Harmonic functions starlike in the unit disk*, Journal of Mathematical Analysis and Applications, 235(2) (1999), pp. 470-477.
4. J.M. Jahangiri, G. Murugusundaramoorthy, and K. Vijaya, *Salagean type harmonic functions*, Southwest J. Pure Appl. Math., 2(2002), pp. 77-82.
5. R. Kumar, S. Gupta and S. Singh, *A class of univalent harmonic functions defined by multiplier transformation*, Rev. Roumaine Math. Pures Appl., 57 (2012), pp. 371-382.
6. H. Lewy, *On the non-vanishing of the Jacobian in certain one-to-one mappings*, Bull. Amer. Math. Soc., 42 (1936), pp. 689-692.
7. T.O. Opoola, *On a new subclass of univalent functions*, Mathematica, 36(59) (1994), pp. 195-200.
8. G.S. Salagean, *Subclasses of univalent functions*, Lecture Notes in Math., Springer - Verlag, Heidelberg, 1013 (1983), pp. 362-372.
9. H. Silverman, *Harmonic univalent functions with negative coefficients*, J. Math. Anal. Appl., 220 (1998), pp. 283-289.
10. E. Yasar and S. Yalcin, *Harmonic univalent functions starlike or convex of complex order*, Tamsui Oxford Journal of Information and Mathematical Sciences, 27(3) (2011), pp. 269-277.

<sup>1</sup> DEPARTMENT OF MATHEMATICS, SANT LONGOWAL INSTITUTE OF ENGINEERING AND TECHNOLOGY, LONGOWAL, PUNJAB, INDIA AND PRESENT ADDRESS: DEPARTMENT OF MATHEMATICS, HANS RAJ MAHILA MAHA VIDYALYA, JALANDHAR-144001, PUNJAB, INDIA.

*E-mail address:* deepali.02.08.88@gmail.com

<sup>2</sup> DEPARTMENT OF MATHEMATICS, DAV UNIVERSITY, JALANDHAR-144001, PUNJAB, INDIA.

*E-mail address:* rajgarg2012@yahoo.co.in

<sup>2</sup> DEPARTMENT OF MATHEMATICS, DAV UNIVERSITY, JALANDHAR-144001, PUNJAB, INDIA.

*E-mail address:* sarika.16984@gmail.com

<sup>3</sup> SCHOOL OF ADVANCED SCIENCE, VELLORE INSTITUTE OF TECHNOLOGY DEEMED TO BE UNIVERSITY, VELLORE - 632014, INDIA., ORCID: [HTTP://ORCID.ORG/0000-0001-8285-6619](http://orcid.org/0000-0001-8285-6619),

*E-mail address:* gmsmoorthy@yahoo.com